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Chapter 01
(STOICHIOMETRY)

SECTION - A

Time allowed: 20 minutes Marks: 17

Note:  Section-A is compulsory. All parts of this section are to be answered on the question paper itself. It
should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Encircle the correct optioni.e. A/ B/ C/D. All parts carry equal marks.

(i) The number of covalent bonds present in 8g CHs are:

(a) 1.204 x 10% (b) 3.01 x 10%

(c) 6.022 x 10% (d) 6.022 x 10%

(i) The number of H* ions produced by complete ionization of 9.8 g Hs PO4
(a) 6.022 x 10% (b) 1.204 x 10%

(c) 6.022 x 10% (d) 6.022 x 10%®

(ilf) How many moles of oxygen are needed for complete combustion of two
moles of methane?

(a) 6.022 x 10% (b) 2 x 6.022 x 10%

(c) 3 x 6.022 x 10? (d) 4 x 6.022 x 10%

(iv) When one mole of each of the following is completely burnt in oxygen.
Which will give the largest mass of CO,?

(a) Carbon monoxide (b) Diamond

(c) Ethane (d) Methane

(v) Which of the following gases will occupy the highest volume at STP?
(@) 2 mole of H> (b) 1.5 mole of O>

(c) one mole of CO> (d) 0.5 mole of NH3

(vi) The mass of 11.2 dm? of CO; enclosed in a container at STP is
(@22¢g (b)11g (c)33¢g (d)44 ¢

(vii) If the amount of a product obtained in the chemical reaction is 250 g
while its theoretical yield is 500 g. Its percentage yield will be:
(@) 25% (b) 35% (c) 45% (d) 50%



(xvii) A flask contains 500 cm?® of SO, at STP. The flask contains
(@) 40g (b) 100 g
(c)50¢ (d) 1.427 ¢

(xviii) Which one of the following compounds contains the highest percentage
by mass of nitrogen?
(a) NH3 (b) N2 Hs (c) NO (d) NH:OH

(ixX) How many moles of oxygen are needed for the complete combustion of 2
moles of butane?

(@) 2 (b) 8 (c) 10 (d) 13
(x) What is the mass of one mole of iodine molecules?

(@) 254 g (b) 74 ¢

(c) 106 g (d) 127 g

(xi) if 4 moles of SO are oxidised to SOz how many moles of oxygen
molecules are required?

(@) 0.5 (b) 1.0 ()15 (d) 2.0
(xii) one mole of ethanol and one mole of ethane have an equal
(@) mass (b) number of atoms

(c) number of electrons (d) number of molecules

(xiii) what is the mass of aluminium in 204 gram of the aluminium oxide
AlO3 ?

(a) 269 (b) 27 g (c)544¢ (d) 108g

(xiv) necklace has 6g of diamond in 8. What are the number of atoms in it it?
(a) 6.022 x 10%® (b) 12.04 x 10%

(c) 1.003 x 10% (d) 3.01 x 10%

(xv) the reactant which is consumed earlier and gives least quantity of
productiscalled

(a) reactant in excess (b) Stoichiometry

(c) limiting reactant (d) Stoichiometric amount

(xvi) The relative atomic mass of chlorine is 35.5. What is the mass of 2 moles
of chlorine gas contains

(@) 142g (b) 71 g

(c)355¢g (d) 18.75¢



(xvii) The number of Water molecules present in 12 g of ice is:

(a) 6.022 x 102
(c) 3.02 x 10%

For Examiner’s use only:

(b) 4.01 x 10%
(d) 1.04 x 10%

Total Marks:

Marks Obtained:

17




Time allowed: 2.40 hours Total Marks: 68

Note: Answer any eleven parts from Section ‘B’ and Attempt any two questions from Section ‘C’

on the separately provided answer book. Use supplementary answer sheet i.e. Sheet-B if
required. Write your answers neatly and legibly.

SECTION - B (Marks 42)
Q.2 Attempt any Fourteen parts from the following. All parts carry equal marks.
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SECTION - C (Marks 26)

Attempt any Two Questions from the following. All parts carry equal marks.
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